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a=p=lz=g++M 80109505 ufpFkflnsf, ;dflgs/)f cf=j= 2075.76

:jf:Yo zfvf rfn', k"FhLut 6000000.00 380000.00 5620000.00
s[lif tyf kz';]jf zfvf 
rfn', k"FhLut

7200000.00 1061200.00 6138800.00

ufpF sfo{kflnsf, rfn' 15000000.00 1697289.00 13302711.00
ufpF sfo{kflnsf, k"FhLut 8000000.00 0.00 8000000.00
j*f g+= 1, rfn', k"FhLut 10800000.00 150000.00 10650000.00
j*f g+= 2, rfn', k"FhLut 8500000.00 0.00 8500000.00
j*f g+= 3, rfn', k"FhLut 10900000.00 0.00 10900000.00
j*f g+= 4, rfn', k"FhLut 9100000.00 0.00 9100000.00
j*f g+= 5, rfn', k"FhLut 8500000.00 0.00 8500000.00
ufpFkflnsf, rfn', k"FhLut 80750000.00 300000.00 80450000.00

164750000.00 3588489.00 161161511.00
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